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( PART-A : Objective )

Time: 20 min.
Choose the correct answer from the following:

1. Which of the following is a type of city in India?
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a.Religious b. Political
c.Trade centre d. All of the above

2. One of the major reasons for the evolution of Modern society according to Durkheim is:
a.Density of population b. Religious development '
c.Capitalist culture d. All of the above

3. Robert Park and Patrick established the relationship between nature and urban areas

in their theory called:

a.Urban question b. Urban ecology
c.Nature and Urbanization d. Ecology and Urbanization

4. Which of the following machinery falls under the category of settlement machinery in

Industrial disputes?

a.Collective bargaining b. Adjudication
c. Collective bargaining d. Workers participation in manageirent -
5. Which of the following falls into the category of push factor in migration?
a.Poor agriculture b. Rise in population
c. Unemployment d. All of the above
6. Which of the following is NOT a cause of juvenile delinquency?
a.Broken family b. Casteism
c.Poverty d. Racial discrimination
7. Which of the following explains the role of state in industrialization?
a) Policy development b) Social movement
¢) Basic and applied research d) Financial assistance
a.a,b&c b.a,b&d
cb&c d.a,c&d
8. The National Urban Housing and Habitat Policy was initiated on:
a.2001 b. 2007
c.1981 d. 1956
9. Which of the following is not one of the features of urban community?
a.Face to face relationships b. Complex life
¢. Materialistic d. Consumerism
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Given below are two statements, one labeled as Assertion and (A) and the other as Reason
(R):
Assertion (A): One of the great achievements of industrialization has been the
expansion of educational opportunities.

Reason (R): Despite this increase, however, inequalities in their utilization persist.

a. A is true and R is false.

b.Both A and R is true.

c.Both A and R is true and R is the correct explanation of A.

d.Both A and R is true, but R is not the correct explanation of A.

Match the following:
a) Karl Marx i) Organic solidarity
b) Max Weber ii) Urban Question
<) Durkheim iii) Charismatic Authority
d) M. Castells iv) Surplus value
a.a-1, b-ii, c-iii, d-iv b. a-i, b-iii, c-iv, d-ii
C.a- iv, b-iii, c-i, d-ii d. a-iii, b-iv, c-ii, d-i
Which is the biggest populated city in India as per the 2011 census?

a.Delhi b. Kolkata c. Kochi d. Mumbai

Which of the following is the impact of industrialisation on family?
a.Extended family b. Polygamous families
c.Nuclear families d. Monogamous families

Which of the following is an impact of improper housing?
a.Crime b. Security issues
c.Health problems d. All of the above

According to Marx which of the following mechanism is used by the Capitalists to

exploit the proletariats?
a. Alienation
c.Surplus value

b. Class struggle

d. Religion

Labour court is involved in which of the following machinery in Industrial disputes?
a. Adjudication b. Arbitration
c.Conciliation d. Collective bargaining

Which among the following plays an important role in industrial policies and planning?

a.NGOs b. Social Movements
c. Civil Society d. All of the above

Ulrich Beck in his theory highlighted the problem of:
a.Environmental degradation.
b.Rising individualism.
c. Exploitation of the haves over haves not.
d.Corruption.

Largest component of internal migration in India is:
a.Rural urban migration b. Urban rural migration
c.lMarriage migration d. Rural migration

Urban community is marked by:
a.Homogeneity
c.Social complexity

b. Hospitality

d. Casteism
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[ PART-B :Descriptive ]

Time: 2 hrs. 40min. Marks: 50

| Answer question no.l & any four (4) from the rest |

Discuss the concept of Urbanism. How the problems of urbanization are 3+7=10
reflected in urbanism?

. Describe the theory of Urban Ecology by illustrating suitable examples. 10

. Explain the concept of settlement machinery in Industrial Disputes. 3+7=10

Describe the different types of settlement machineries in Industrial
disputes.

. Explain your perspective on how to address the issue of juvenile 10
delinquency with particular reference to India.

. Explain the impact of the problem of housing in urban society with 10
particular reference to India.

. Explain the impact of industrialization on the institution of family and 5+5=10
education. :

. Explain the needs and objectives of National Urban Housing and 10
Habitat Policy.

. Discuss the role of NGO and civil society in urban planning and 10

implementation of policies.



